R Ak [

=820 17 Vo BBt £ TR (D XM, 3.14 2.5 &\ IR #
TEel Q) e,

s Hfti EDF—rEHBICANZOHLAZDTEZ0M, [ 3 |Thb, LB i,
DI oM (@) |45 ATES T %,

L@ ozt g zoicid, Ficiiz AN TE2R T IUZ A S0, AR
iz AN 200 B) |THD, WolkABRL=BIcEEZ ANZDHB (6) |TH3B,

S HEEITS + xR0 E_ (D JEY, WEoNREARZAE[(B) LS,
HEONSRER 2 @) oSz (D Jick->THE 2, prvnboix[ (9 <.
LnboT[ _(10) JHTH 2,

B, =o4mz[_AD JTth s,

= =270 75 Lk, ZOREEITN U TEMICENT S E DHENTORAZRT D & HA
29I EB, ZORAD ER] (12) LR,

s TICRTDIE, F—FR—FDPoRAAALZ DD int BIEEK x, y 2 MR L 724
ERRNTZIUTILTHS,

import java. (13) |.[ (14) |;

class Arithmetic {

(15) | static | (16) | main(String[] args) {
(A7) | stdIn = new [ A7) [ (18) );

System.out.println("x&yZ=FERLFET, ");

System.out.print ("xDfE : "); /! xDIBEDAANZRY
int x = stdIn.[_(19) J; /1 x|[CEBIEEFHHFAD
System.out.print ("yDIE : "); /! yDED AN ZIRYT
int y = stdIn.[_(19) |; /] yCEEEUEREFHIHAD
System.out.println(x + ) // x(CyZEhl R T=f@E
System.out.println(x - ) /! xHh\5yZE5|L\IfB
System.out.println(x [ (20) | y); // x[CyZ=BEUicfB
System.out.println(x [ (21) | y); // x%Zmy TEI>7/=i
System.out.println(x [ (22) | y); // xZZy T > TzFIR

= DUMIZ/AR T D%, double BITEH x DFF 5% KL 724l (x235.3 THNIX-5.3) &, x
Ly DY EFRTZ 7005 LW TH S,

System.out.println("xDFSEREL/ZEE" + | (23) |+ "TT., ");
System.out.println("xZyDFH(E" + [ (24) |+ "TI, ");
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SRRSO LT 25 |, [ @6 ], [ @D ], [ @8 |
b, EHEEETLOOFE/NOIAELZIZL 2D |, [ G0 253,

InspiE ey - SR ORKAL GD |Th B,

% (25) ~ (28) BKU (29) ~ (30) [$. TNZNTFIL D PRy NECRET B &

s PITICRTH 7T TS5 LDOETHERZ Y,
XD S2ASEPmain XV y ROSTERE FEBLTND, RELUBOBETE, ABDLS (T
TOIS ADBHDHETT T EHB D,

System.out.println("13 + 57 = " + 13 + 57 ); (32)
System.out.println("13 + 57 = " + (13 + 57)); 32
int x = 10;

System.out.println("x = " + "x"); ‘ (3) ‘
System.out.println("x = " + x );

System.out.println(1@ - 7);

System.out.println(1g * 7);

System.out.println(19 / 7); (34)
System.out.println(1g % 7);

System.out.println( 5 / 3 );

System.out.println( 5 / (=3)); (35)
System.out.println((-5) / 3 ); 3
System.out.println((-5) / (-3));

System.out.println( 5 % 3 );

System.out.println( 5 % (-3)); (36)
System.out.println((-5) % 3 ); 36
System.out.println((-5) % (-3));

= PTFICRTDIE, F—FR— F255ARAATY double BID K Z B OMDMIHOEZ &
HEZ2ERTZ2 705 LTHS,

(37) java.util.Scanner;

(38) | Circle {
public static void main(String| (39) args) {
(40) | double PI = 3.1416; // A=

Scanner stdIn = new Scanner(System.in);

System.out.print ("1E : ");
double r = [ (41 |.[ (42) |, // ¥BREZHHAD

System.out.println("FHEDEZ(E" + 2 * + "Td, ")
System.out.println("Ei&(E" + PI * + "Td, "),




s DITFICRTOIX, 3HOEE (101, 103, -+, 999) ZEIKE U THER L., ZDOEEE .
ZOHEZ 105 LS, 20D T O 2R RT3 (BERLUZELED 537 TH
UXB37 L5370 LT H#FRT D) TS5 THD,

[ @7 ] java.[ (45) ][ 46 |;

[ (38) | RandTen {
public static void main(String (39) args) {

rand = new

int k = 2 * rand.[ (48) |( (49) D+ [ (B0 |;
System.out.println("4L L/ZELEIE" + k + "TT, ");
System.out.println("10f% L7={E(E" + + "Td, "),
System.out.println("& FHRZDHTIE" + + "Td., "),

s DNICRT DX, MEHAEFRAIAAT, HRFELEEOW S TREZITS 717 I 4
Thb, 72& X, #:E LT FShibatay 7537\73331’( 4 & LT TBohYohy A5 A M &
NS EIFE, £9 T2 AICHIE, Shibata BohYoh XAy EERRL., Zh 5 THello,
BohYoh Shibata.j LFERT BT &,

(837) | java.util.Scanner;
(38) | HelloJE {

public static void main(String| (39) | args) {
Scanner stdIn = new Scanner(System.in);

System.out.print ("% : ");

String last = stdIn.[ (563) |; // W
System.out.print("44 @ ");

String first = stdln.| (83) |; // &
System.out.println(__(64) D; /7 Elzliu TR
System.out.println( (55) ); // =& FEBTERE

s DUNICR T 70 s 5 LAOMD ZigHL kY, -
KERD [F—EBPF TR <EHDH D,

crass A [
pubilc static main(String[] args) [
final int a 3;
final int b 5;
final int x 1;

x=(a+b) / 2:

System.out.plintln("a = ", a)
System.out.plintln("b = ", b)
System.out.plintln("x = ", x)
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